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35,188 3,280 38,468
32,992 3,280 36,272
8,441 498 7,943
8,441 498 7,943
5 1 4

1 1 0
38,213 13,742 24,471
38,212 13,742 24,470
584 10 574
584 10 574
83,659 10,971 72,688




71,469 10,971 60,498
71,469 10,971 60,498
10,185 0 10,185
10,185 0 10,185

5 0 5

1 0 1
2,000 0 2,000
2,000 0 2,000
83,659 10,971 72,688




35,188 3,280 38,468
8,441 498 7,943
5 1 4
38,213 13,742 24,471
584 10 574
83,659 10,971 72,688




71,469 10,971 60,498 485 9,985 501
10,185 0 10,185 13 560 573
5 0 5 0 1 1
2,000 0 2,000 0 73 73
83,659 10,971 72,688 498 10,473 0




32,992 3,280 36,272 3,280
32,413 3,373 = 35,786
32,413 3,373 = 35,786
503 93 = 410
503 93 = 410
32,992 3,280 = 36,272
32,992 3,280 36,272
8,441 498 7,943 498
8,371 513 = 7,858
8,371 513 = 7,858
70 15 = 85
70 15 = 85
8,441 498 = 7,943
8,441 498 7,943
1 1 0 1
1 = 0
1 = 0
= 0
1 1 0




38,212 13,742 24,470 13,742
38,212 + 13,742 = 24,470
38,212 + 13,742 = 24,470
38,212 + 13,742 = 24,470
38,212 13,742 24,470
584 10 574 10
25 + 10 = 15
25 + 10 = 15
584 + 10 = 574
584 10 574




71,469 10,971 60,498 501 1 8,646
485 3,057
40,050 8,646 31,404
13,042 40,050 8,646 31,404
40,050 8,646 31,404
4 103
5,957 103 5,854
5,957 103 5,854
7,427 103 7,324
26 2,222
3,700 2,222 1,478
3,700 2,222 1,478
3,700 2,222 1,478
71,469 10,971 60,498 485 9,985 501
10,185 0 10,185 573
13 150
700
10
10,185 0 10,185 13 560 573




1 1 1

1 1 1

2,000 2,000 73
73

2,000 2,000 73 73
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